

**Bill to:** C00339 San Benito County 2301 Technology Pkwy Hollister, CA 95023-2513

Ship to:

County of San Benito - Homeless Shelter

1161 San Felipe Rd Hollister, CA 95023-2800

USA

Totals:

Total nontaxable \$0.00
Total taxable \$57,057.38
Tax \$4,707.23

TOTAL AMOUNT - USD

\$61,764.61

Information

USA

Quote:12338-02Document date:11/27/2018Payment terms:Net 20 DaysExpiration date:12/27/2018

Description:

Homeless Shelter Offices, Reception, & Training Room-

Products

Team

Sales representative: Bob Madey bmadey@pivotinteriors.com
Sales coordinator: Chiyoh Arai carai@pivotinteriors.com

408 432 5655 408 635 7723

Line Item number Description Tag Quantity **Unit price Extended** NOTE NOTE НМІ 1.00 \$0.00 \$0.00 CONTRACT 4400003403 Herman Miller AG0607 Ship to site: 1161 San Felipe AG0607 2 +Everywhere Rectangular HERMAN MILLER 7.00 \$441.21 \$3,088.47 DT1AS.2472LT Т Table, Squared Edge, Lam Top/Thermo EVERYWHERE Edge,T-Leg 24D 72W **TABLE** LBS +phantom cocoa IRS +phantom cocoa MS +metallic silver 20 +casters +no grommet NTG 3 DT1KS.30LS @Everywhere Teardrop Table, Square HERMAN MILLER 1.00 \$304.26 \$304.26 T Edge, Lam Top/Thermo Edge, Single-**EVERYWHERE** Column Base 30D **TABLE** LBS +phantom cocoa LBS +phantom cocoa MS +metallic silver 20 +casters 4 DT5AS.2472LT +Everywhere Flip-Top Rect HERMAN MILLER 18.00 \$543.18 \$9,777.24 T Table, Squared Edge, Lam Top/Thermo EVERYWHERE Edge,T-Leg 24D 72W **TABLE** LBS +phantom cocoa LBS +phantom cocoa +metallic silver MS 20 FTS10.3048LS HERMAN MILLER 6.00 \$98.89 \$593.34 Т 5 +Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 30D 48W, No **CANVAS SAN BENIT Brkts** LBS +phantom cocoa +phantom cocoa LBS FTS10.3072LS +Rectangular Surface, Sq-Edge, Lam HERMAN MILLER 1.00 \$166.47 6 \$166.47 Top/Thermo Edge, 30D 72W, No **CANVAS SAN BENIT** LBS +phantom cocoa LBS +phantom cocoa 7 FT110.4224J +Frame, Base Covers, Pwr/Data HERMAN MILLER 1.00 \$60.45 \$60.45 Т knockouts 42H 24W **CANVAS SAN BENIT** 91 +white FT110.4224N HERMAN MILLER 1.00 \$57.66 \$57.66 8 +Frame, Base Covers, no knockouts Т 42H 24W **CANVAS SAN BENIT** 91 +white

SAQT-000010676



SAQI	-000010676						•
9	FT110.4230J	+Frame,Base Covers, Pwr/Data knockouts 42H 30W	HERMAN MILLER CANVAS SAN BENIT	4.00	\$63.55	\$254.20	T
	91	+white					
10	FT110.4236J	+Frame,Base Covers, Pwr/Data knockouts 42H 36W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$67.89	\$67.89	T
	91	+white					
11	FT112.24AP	+Frame Top Cap,Standard Ptd 24W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$8.99	\$8.99	T
	91	+white					
12	FT112.30AP	+Frame Top Cap,Standard Ptd 30W	HERMAN MILLER CANVAS SAN BENIT	2.00	\$9.92	\$19.84	Т
	91	+white					
13	FT112.36AP	+Frame Top Cap,Standard Ptd 36W +white	HERMAN MILLER CANVAS SAN BENIT	1.00	\$11.16	\$11.16	T
1.4	FT121.246		HERMAN MILLER	3.00	¢10.60	¢ C C O O	т.
14	F1121.240	+Conn 90,Universal,2way,90 deg-for 46H frames and lower	CANVAS SAN BENIT	3.00	\$18.60	\$55.80	T
15	FT123.242BP	+Conn Cover 90-Deg, 2 Sides Covered,Base Cover Ptd 42H	HERMAN MILLER CANVAS SAN BENIT	3.00	\$16.74	\$50.22	T
	91	+white	DLIVII				
16	FT126.2AP	+Top Cap, Conn 90-Deg, Connects-2 Frame Top Caps, 90-Deg Ptd	HERMAN MILLER CANVAS SAN BENIT	3.00	\$9.61	\$28.83	T
	91	+white					
17	FT128.42	+Connection Hardware, Frame-to- Frame 42H	HERMAN MILLER CANVAS SAN BENIT	3.00	\$7.44	\$22.32	T
18	FT150.24	+Base Power Harness 24W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$39.06	\$39.06	T
	LZ	+PVC-free					
19	FT150.30	+Base Power Harness 30W	HERMAN MILLER CANVAS SAN BENIT	4.00	\$40.61	\$162.44	T
	LZ	+PVC-free					
20	FT150.36	+Base Power Harness 36W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$42.16	\$42.16	T
	LZ	+PVC-free					
21	FT160.42BP	+Finished End,Base Cover Ptd 42H	HERMAN MILLER CANVAS SAN BENIT	2.00	\$17.67	\$35.34	T
	91	+white					
22	FT180.3724T	+Tile,Full-Height,Tackable Fabric 37H 24W	HERMAN MILLER CANVAS SAN BENIT	4.00	\$42.16	\$168.64	T
	91 95 16	+white +gem-Pr Cat 1 +gem fog					
23	FT180.3730T	+Tile,Full-Height,Tackable Fabric 37H 30W	HERMAN MILLER CANVAS SAN BENIT	8.00	\$44.64	\$357.12	T



SAQT	-000010676				٢		l
	91 95 16	+white +gem-Pr Cat 1 +gem fog					
24	FT180.3736T	+Tile,Full-Height,Tackable Fabric 37H 36W	HERMAN MILLER CANVAS SAN BENIT	2.00	\$54.87	\$109.74	T
	91 95 16	+white +gem-Pr Cat 1 +gem fog					
25	FT280.24LP	+Trans Surf, Sq-Edge Lam Top/Thermo Edge Surf, Ptd Stndrd Top Cap 24W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$180.42	\$180.42	T
	LBS LBS 91 91	+phantom cocoa +phantom cocoa +white +white					
26	JL FT280.60LP	+stacking on 42"-high base frame +Trans Surf, Sq-Edge Lam Top/Thermo Edge Surf, Ptd Stndrd Top Cap 60W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$298.84	\$298.84	T
	LBS LBS 91 91	+ phantom cocoa + phantom cocoa + white + white					
27	JL FT290.24L	+stacking on 42"-high base frame +Surface Cantilever, for 20"-or 24" deep surface,lft-hnd	HERMAN MILLER CANVAS SAN BENIT	1.00	\$10.54	\$10.54	Т
20	91 FT200 24B	+white	LIEDMANIANIED	1.00	¢10.54	¢10.54	_
28	FT290.24R 91	+Surface Cantilever, for 20"-or 24" deep surface,rt-hnd +white	HERMAN MILLER CANVAS SAN BENIT	1.00	\$10.54	\$10.54	T
29	FTS10.2466LF	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 66W, Frame Atch	HERMAN MILLER CANVAS SAN BENIT	1.00	\$126.48	\$126.48	Т
	LBS LBS	+phantom cocoa +phantom cocoa					
30	FTS10.2466LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 66W, No Brkts	HERMAN MILLER CANVAS SAN BENIT	6.00	\$110.36	\$662.16	T
	LBS LBS	+phantom cocoa +phantom cocoa					
31	FTS10.2472LS	+Rectangular Surface,Sq-Edge, Lam Top/Thermo Edge, 24D 72W, No Brkts	HERMAN MILLER CANVAS SAN BENIT	1.00	\$123.38	\$123.38	T
	LBS LBS	+phantom cocoa +phantom cocoa					
32	FV2A2.24FL	+Open Support Leg,Archtrl Foot,Fxd Hght,Lft 24D	HERMAN MILLER CANVAS SAN BENIT	2.00	\$133.61	\$267.22	T
	MS	+metallic silver					
33	FV2A2.24FR	+Open Support Leg,Archtrl Foot,Fxd Hght,Rt 24D	HERMAN MILLER CANVAS SAN BENIT	5.00	\$133.61	\$668.05	T
	MS	+metallic silver					
34	FV446.WM1530LL	@Overhead Strg Cab,Hngd Drs,Wall Mntd,Lam Case/Dr,Lock 15H 30W	HERMAN MILLER CANVAS SAN BENIT	6.00	\$366.11	\$2,196.66	T
	KA LBS LBS	@keyed alike +phantom cocoa +phantom cocoa					
35	FV446.WM1536LL	@Overhead Strg Cab,Hngd Drs,Wall Mntd,Lam Case/Dr,Lock 15H 36W	HERMAN MILLER CANVAS SAN BENIT	8.00	\$378.82	\$3,030.56	T



Quotation		PIVOT
SAQT-000010676		11001
KA	@keyed alike	
LBS	+phantom cocoa	
LBS	+phantom cocoa	

	KA LBS	@keyed alike +phantom cocoa					
	LBS	+phantom cocoa					
36	FV696.43	+Stiffener, 43 1/4W	HERMAN MILLER CANVAS SAN BENIT	6.00	\$22.01	\$132.06	T
37	FV696.48	+Stiffener, 48W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$22.01	\$22.01	Т
38	FV980.WM2472R	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 24H 72W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$163.37	\$163.37	Т
	95 08	+gem-Pr Cat 1 +gem bayou					
39	FV980.WM2466R	+Tackboard,wall mntd,Tckble Fabric,Hrzntl 24H 66W	HERMAN MILLER CANVAS SAN BENIT	6.00	\$159.96	\$959.76	Т
	95 08	+gem-Pr Cat 1					
40	G6160.BB	+gem bayou +Twist LED Task Light,Starter unit,Brkt Att	HERMAN MILLER CANVAS SAN BENIT	7.00	\$157.17	\$1,100.19	Т
41	G6160.CB	+Twist LED Task Light,Add-on unit,Brkt Att	HERMAN MILLER CANVAS SAN BENIT	7.00	\$113.15	\$792.05	T
42	LW100.20BBF	+Ped W-Pull,Freestd 20D B/B/F	HERMAN MILLER TU FILING SAN BE	1.00	\$210.70	\$210.70	Т
	SB XS 91 KA 1F NN	+full-extension ball-bearing +textured paint on smooth steel +white +keyed alike +standard height +none					
43	LW140.24BBF	+Ped W-Pull,Surface Att 24D,B/B/F	HERMAN MILLER TU FILING SAN BE	7.00	\$201.95	\$1,413.65	T
	SB XS 91 KA 2F NN	+full-extension ball-bearing +textured paint on smooth steel +white +keyed alike +27 1/4" high (raised height) +none					
44	FV694.A12A36	+Screen,Translucent Plastic, 12" below WS, 36W	HERMAN MILLER CANVAS SAN BENIT	6.00	\$223.51	\$1,341.06	T
	J9 MS	+ opal frosted + metallic silver					
45	FV694.A12A48	+Screen,Translucent Plastic, 12" below WS, 48W	HERMAN MILLER CANVAS SAN BENIT	1.00	\$240.25	\$240.25	Т
	J9 MS	+opal frosted +metallic silver					
46	FV694.A12A60	+Screen,Translucent Plastic, 12" below WS, 60W	HERMAN MILLER CANVAS SAN BENIT	18.00	\$257.61	\$4,636.98	T
47	J9 MS ZCELH	+opal frosted +metallic silver @Exact Size File Top,Sq-Edge,Lam Top	HERMAN MILLER MERIDIAN	1.00	\$202.40	\$202.40	Т
	D01 29"	@depth 15.00in - 30.00in DEPTH	EXACT S				
	W04 58" EZ LBS	@width 48.01in - 60.00in WIDTH @standard hmi laminates +phantom cocoa					





48	ZSS G1 G1 G1 BB BK 231	+Work Chair,New Aeron,B Size,Std- Hgt Range Adj,Tlt Lim and Seat Angle,Hgt Adj Plus Pivot Arms,Non- Uphst Armpads +PostureFit +graphite +graphite +graphite +2 1/2" hard caster, black yoke, carpet only +black +8Z Pellicle-Pr Cat 1 +8Z Pellicle graphite	HERMAN MILLER SEATING AERON SA	8.00	\$746.76	\$5,974.08	T
49	93FCS.US ~ FG3 PATIO	Anytime, Side Chair, Silver Frame, Uph Seat, Casters, Armless  No Selection Fabric Grade 3 Patio Standard Color Selection	SIT ON IT SEATING ANYTIME SAN	68.00	\$176.54	\$12,004.72	Т
	SLATE SC8 C13	Patio Slate Slate Carpet Caster					
50	AC FT140.06	Fully Assembled in a Carton +Power Entry, External Direct Connect 6'long	HERMAN MILLER CANVAS SAN BENIT	1.00	\$54.25	\$54.25	T
	LZ	+PVC-free					
51	SEHX30-48-F30-PS S F30	Sierra HX Electric Frame Set, 2-Leg Feet- 30"	Programable Switch	6.00	\$576.28	\$3,457.68	Т
	PS S	Programable Switch Silver					
52	SEHX54-72-F30-PS-S	Sierra HX Electric Frame Set, 2-Leg	Programable Switch	2.00	\$585.53	\$1,171.06	Т
	F30 PS S	Feet- 30" Programable Switch silver					
53	FT155.A	+15 Amp Receptacle 4 Circuit, Duplex, Circuit A 6/Pkg	HERMAN MILLER CANVAS SAN BENIT	1.00	\$56.42	\$56.42	T
	91	+white					
54	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	1.00	\$3.10	\$3.10	Т
	226	+key number 226					
55	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	T
	227	+key number 227					
56	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	T
	228	+key number 228					
57	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	Т
	229	+key number 229					
58	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	T
	230	+key number 230					
59	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	T

SAOT-000010676



SAQI	-000010070						-
60	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	Т
	232	+key number 232					
61	1B2JK7-	+Lock Plug and Key,Chrome UM Series	HERMAN MILLER KEYS SAN BENITO	3.00	\$3.10	\$9.30	T
	233	+key number 233					

 Total nontaxable
 \$0.00

 Total taxable
 \$57,057.38

 Tax
 \$4,707.23

 TOTAL AMOUNT - USD
 \$61,764.61

SAOT-000010676



#### **TERMS AND CONDITIONS**

This quotation, which includes the preceding portion hereof (collectively, Quotation) is subject to the terms and conditions set forth below, and shall be void unless accepted by the Buyer signing a copy and returning it to Pivot Interiors (Seller) no later than thirty (30) days from the date of the Quotation.

- 1. Terms: All sales by Seller hereunder are final, and the terms of the Quotation may not be modified without the prior written consent of an authorized representative of Seller. Additional or different terms and conditions proposed by Buyer shall not be binding on Seller without Seller's prior written approval
- 2. Payment, Deposit, Credit Approval: Products and services shall be invoiced upon delivery. Payment is due net, not later than the date specified in the preceding portion of this Quotation. Unless waived by Seller in writing, Buyer shall deposit with Seller the deposit sum specified above in the preceding portion of this Quotation, which shall be payable concurrently with Seller's receipt of Buyer's written acceptance of the Quotation. . All sales and shipments are subject to Buyer's credit approval by Seller. If Buyer's credit information is not available or if its credit is not approved by Pivot, payment by Buyer must be made in full at or before the time of purchase.
- 3. Proposed Purchase: The products and/or services covered by this Quotation (collectively, Purchase Items) are set forth above in the preceding portion of this Quotation.
- 4. Price: The total price (Price) for Purchase Items being provided by Seller is set forth above in the preceding portion of this Quotation. Unless otherwise noted, all applicable freight charges are included above in the preceding portion of this Quotation and, if not included therein, freight charges will be quoted and invoiced to Buyer as a separate line item. The Price, if not specified in the preceding portion of this Quotation, does not include applicable taxes, or other items specifically enumerated below.
- 5. Taxes: All applicable taxes on the Purchase Items will be in addition to the Price, and will be added to invoices and paid by Buyer when the invoice is due, at the rate in effect at time of invoicing. If Buyer claims exemption from taxes, Buyer shall provide Seller with a valid Certificate of Exemption concurrently with Buyer's acceptance of this Quotation.
- 6. Freight: All freight and related delivery charges applicable to the Purchase Items, unless already stated in the preceding portion of this Quotation, will be in addition to the Price, and will be added to invoices and paid when the invoice is due.
- 7. Changes, Cancellations, & Returns: Products and services sold to Buyer hereunder are custom designed and/or manufactured. All sales are final. No changes, cancellations or returns are allowed without the prior written approval of Seller and the applicable manufacturer. If changes, cancellations or returns are approved by Seller, all direct and indirect costs and expenses thereof shall be paid by Buyer.
- 8. Product Storage: If Buyer is unable or unwilling to accept delivery of Purchase Items within 30 days of product receipt at Seller's (and/or Seller's agents) facility, all resulting costs and expenses incurred by Seller and/or its agents, including costs of moving, handling and storage of Purchase Items pending delivery, shall be paid by Buyer. Such Purchase Items shall be invoiced and shall be paid in full by Buyer within thirty (30) days after date of invoice. Provided, however, all moving, handling and storage costs and expenses incurred by Seller and/or its agents shall be paid by Buyer immediately upon receipt of invoice.
- 9. Title & Security Interest: Title to all Purchase Items shall pass from Seller to Buyer upon delivery and payment in full of the invoiced amounts and all other costs and expenses due under this Quotation. Seller shall have and Buyer hereby grants to Seller a continuing first security interest in all Purchase Items to secure payment of the Price and all invoiced portions thereof, and other obligations of Buyer under this Quotation. All Purchase items shall remain personal property regardless whether affixed to real property. If Buyer shall default in payment under this Quotation, Seller shall have all applicable rights and remedies of a secured party pursuant to the California Commercial Code. Buyer agrees to execute a Security Agreement and related financing documents promptly upon Seller's request
- 10. Delay: Due to uncertain factory shipping schedules common to the componentized modular furniture business, no obligation or liability shall be incurred by Seller for failure to deliver Purchase Items by any particular date. Seller shall not be liable for any loss, expense, claim or damage incurred by Buyer or others resulting from any delay or failure in shipment or delivery of Purchase Items caused in whole or in part by delay or default in transportation, labor disputes, inability in obtaining materials or product, natural disasters, acts of God, war or terrorism or any other cause not within the reasonable control of Seller.
- 11. LIMITATION OF WARRANTIES: SELLER MAKES NO WARRANTIES, EXPRESS OR IMPLIED, AS TO MERCHANTABILITY OR AS TO THE SUITABILITY OF ANY PURCHASE ITEMS OR SERVICES FOR ANY PARTICULAR PURPOSE. BUYER'S SOLE WARRANTY AND OTHER RIGHTS HEREUNDER FOR PRODUCT DEFECTS OF ANY KIND SHALL BE THE WARRANTY THAT IS PROVIDED BY THE MANUFACTURERS OF SUCH PRODUCTS. MOST MANUFACTURERS WARRANT THEIR PRODUCTS TO BE FREE FROM DEFECTS IN MATERIAL AND WORKMANSHIP FOR A PERIOD OF AT LEAST ONE (1) YEAR FROM DATE OF DELIVERY, AND BUYER SHALL HAVE THE BENEFIT OF ANY SUCH MANUFACTURER WARRANTIES. SELLER AGREES TO SERVE AS FACILITATION OF ANY CLAIMS MADE BY BUYER AGAINST MANUFACTURERS, BUT SELLER SHALL HAVE NO LIABILITY WHATSOEVER WITH REGARD TO ANY SUCH FACILITATION EFFORT. ANY CLAIM AGAINST A MANUFACTURER'S WARRANTY MUST BE MADE TO THE MANUFACTURER PROMPTLY UPON DISCOVERY OF A DEFECT. BUYER'S SOLE REMEDY FOR DEFECTIVE INSTALLATION PERFORMED BY SELLER SHALL BE TO REPAIR OR REPLACE, AT SELLER'S SOLE OPTION, THE SAME WITHIN THE FIRST YEAR IMMEDIATELY FOLLOWING DELIVERY. SELLER SHALL NOT LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL DAMAGES. NO OTHER WARRANTIES OF ANY KIND ARE EXPRESSED OR IMPLIED, AND BUYER HEREBY DISCLAIMS ANY AND ALL RIGHTS THERETO. IN ADDITION, PRODUCT WARRANTIES MAY BE INVALIDATED ON NON-COMMERCIAL ITEMS (RESIDENTIAL OR RESTALL SOURCED) USED IN COMMERCIAL SETTINGS (INCLUDING WITHOUT LIMITATION OFFICES AND HOSPITALS). SELLER MAKES NO WARRANTIES, EXPRESS OR IMPLIED, AS TO MERCHANTABILITY OR AS TO THE SUITABILITY OF ANY PURCHASE ITEMS OR SERVICES FOR ANY PARTICULAR PURPOSE. THE SOLE WARRANTY OBLIGATION OF SELLER TO BUYER SHALL BE EXPRESSLY LIMITED TO THE WARRANTY SET FORTH IN THIS PARAGRAPH 11 ALONE.
- 12. LIMITATION OF DAMAGES: EACH PARTY'S TOTAL LIABILITY FOR DAMAGES OR CLAIMS ARISING OUT OF OR RELATING TO THIS QUOTATION SHALL NOT EXCEED THE AGGREGATE FEES PAID OR PAYABLE BY BUYER TO SELLER UNDER THIS QUOTATION UNDER NO CIRCUMSTANCES SHALL EITHER PARTY BE LIABLE IN ANY WAY FOR SPECIAL, INDIVIDUAL, CONSEQUENTIAL, OR NON-DIRECT DAMAGES ARISING IN ANY WAY OUT OF THIS QUOTATIONL, HOWEVER CAUSED, WHETHER ARISING OUT OF CONTRACT, TORT (INCLUDING NEGLIGENCE OR OTHERWISE), INCLUDING, WITHOUT LIMITATION, DAMAGES FOR LOST PROFITS, OR LOSS OF TIME, INCONVENIENCE OR COMMERCIAL COSTS. THE LIMITATIONS OF LIABILITY SET FORTH HEREIN SHALL APPLY NOTWITHSTANDING THE FAILURE OF THE ESSENTIAL PURPOSE OF ANY OF THE LIMITED REMEDIES SET FORTH HEREIN.
- 13. Finance Charges: A finance charge of 1.5% per month (ANNUAL PERCENTAGE RATE OF 18.0% PER ANNUM) will be charged on all past due accounts. In the event any action, suit or other proceeding is required to collect amounts owing to SELLER under this QUOTATION, Buyer shall reimburse all costs and expenses incurred therein by SELLER, including reasonable attorney's fee and costs.
- 14. Delivery and Installation Conditions: Buyer shall have the following obligations, which Buyer shall cause to occur at its sole cost and expense:
  - a. Job Site: Job Site, including all passageways, corridors and the areas designated for installation, shall be clean, free and clear of personnel, existing furnishings, construction materials or debris or any other obstruction.
  - b. Access: Doorways, openings and elevators shall be sufficient to allow delivery of Purchase Items without necessity of dismantling.
  - c. Utilities/Services Electricity, heat, lighting, elevator or hoisting services shall be furnished by Buyer without cost to Seller. Parking and adequate facilities for off-loading, staging, moving and handling of Purchase Items shall be provided by Buyer.
  - d. Hours of Delivery Job Site shall be open and available for delivery and installation of Purchase Items during Seller's normal business hours, Monday Friday, 8:00 a.m. 5:00 pm. Labor costs of Seller resulting from overtime work shall be invoiced to and fully paid by Buyer.
  - e. Shipping: Buyer accepts responsibility to inspect Purchase Items shipped directly by manufacturer to Buyer, to note on bills of lading of any damage, and to notify carrier of such damage within 24 hours of delivery. Any such damage shall not excuse or delay payment by Buyer of Seller's invoices.
  - f. Damage: After Delivery Any loss of or damage to product after delivery to Buyer, whether due to weather, fire, elements, other trades or other causes, shall be the sole responsibility of Buyer. Buyer shall hold Seller harmless from any such loss or damage.
- 15. Termination: This Quotation may be terminated by either party upon its issuance of written notice to the other party of its breach of the terms of the Quotation, which breach is not cured within fifteen (15) days of such notice. A termination by Seller of Buyer for breach will not relieve Buyer of its payment obligations to Seller existing at the time of such termination, and such sums shall become immediately due and payable. A termination by Seller of Buyer for breach shall not be the exclusive remedy of Seller, and Buyer shall be obligated to reimburse Seller in full for all costs Seller incurs in connection with cancellation of any orders which have not yet been shipped or any services which have not yet been rendered.
- 16. Authorization: Buyer represents and warrants that the person signing below on behalf of Buyer possesses full and proper authorization to enter into this Quotation, and acknowledges that the Quotation is legally binding agreement as to Buyer.
- 17. Governing Law: This Quotation shall be governed by the laws of the State of California (without regard to any conflict of laws provision), Any legal action regarding the enforcement or construction of the terms of this Quotation shall be determined solely and exclusively in the venue of the United States Federal Court or the Superior Court of the State of California, in the city of San Jose and the County of Santa Clara.
- 18. Entire Agreement: This Quotation contains the complete and exclusive agreement and understanding between the parties concerning the subject matter of this Quotation, and supersedes all prior and contemporaneous proposals, agreements, understandings, negotiations, representations, warranties, conditions, and communications, oral or written, between the parties relating to the same subject matter. The terms and conditions of this Quotation will prevail and control in the event of any different, conflicting or additional terms and conditions that may appear on any purchase order, acknowledgement, invoice or other writing issued by either party in connection with this Quotation. The express terms of this Quotation shall supersede and control over any course of performance, course of dealing, or usage of the trade inconsistent with any of the terms of this Quotation. No amendment or modification of this Quotation shall be effective unless it is made in writing, and is signed by an authorized representative of Seller and Buyer.
- 19. Confidentiality: Buyer agrees, except upon the prior written consent of Seller, that it will keep and maintain in strict confidence the existence and contents of this Quotation, for a period of one (1)

SAQT-000010676



year from date hereof. 20. General:

- a. Assignment: Neither this Quotation nor any portion thereof, nor any right or interest therein, shall be assignable or transferable by Buyer without the express written consent of Seller, and any attempted assignment or transfer by Buyer which is lacking such consent shall be void and of no effect whatsoever.
- b. Attorneys' Fees: In the event of any legal action brought by a party to enforce or construe this Quotation or any of the provisions thereof, the party prevailing in such action shall be entitled, in addition to other relief, to recover its reasonable attorneys' fees and costs incurred therein.
- c. Attorneys' Fees: Storage Services In the event that all or any portion of this Quotation pertains to Seller's providing to Buyer storage services relating to any items of property owned by Buyer, the following terms shall apply (i) SELLER MAKES NO WARRANTY WHATSOEVER, WHETHER EXPRESS, IMPLIED OR OTHERWISE, RESPECTING THE CONDITIONS APPLICABLE TO THE STORAGE FACILITIES INCLUDING, WITHOUT LIMITATION, ANY WARRANTY RESPECTING THE SAFETY OF SUCH FACILITIES FROM FIRE, EARTHQUAKE, WAR, TERRORISM OR INSURRECTION, OR ANY OTHER RISKS, INCLUDING WITHOUT LIMITATION BURGLARY, ROBBERY OR THEFT;(ii) Buyer shall indemnify Seller from and hold Seller free and harmless from any claim or demand by any party against Seller, including attorneys' fees and costs, respecting any of Buyer's property items being stored by Seller; (iii) Seller shall at all times have, in addition to any other liens provided for herein, a lien and security interest against all items stored by Buyer with Seller from time to time hereunder, to secure the obligations of Buyer for all storage fees and related charges and other claims arising hereunder; and (iv) Seller shall have, without limiting its other rights and remedies, all the rights and benefits provided under the California Commercial Code and any other laws, in California or elsewhere, applicable to warehousemen and warehouse owners and operators. The signature of the Buyer below shall signify its agreement to the terms and conditions of this Quotation.

		Total nontaxable	\$0.00
		Total taxable	\$57,057.38
		Tax	\$4,707.23
		TOTAL AMOUNT - USD	\$61,764.61
Signature:	Title:	Date:	
Print name			